MEREEHEE (7 A—F b, RETAKFEEKh=1.0)

1. @iE= | sU— - LAty FRERNIZY b (@RAK/TIEBIAR)
2. a= ‘PLFY—P71 - 80CLMG9
3. HEEREETT
(1)iezrEE (EGEE) W= 139 kg
(2)7 vHh—HI b
OfAE N= 4 ES
@Q% 4 X - ik =M 10 FiZ
@ 1A%7 Y OMITER (FEIC & 2 MEH) A= 78 mm’= 78 X10°  |m’
DEREEZERIHEDBIRY 22K A0 T > H—FRIL b OBRAK Nt= 2 ES
(3)BAEL VEBELE TOBE Hg= 270 mm= 0.27 m
(4)RET 2 HMEDSREFL 2 L= 950 mm= 0.95 m
(5)1&5Ts 3 AmA S RI-FIL Fhih SHEBRELE TOEE Lg= 460 mm(Lg=L/2)= 0.46 |m
4. REEE (BEOMEUT2HEZMEAA L TEH)
(1) EtRKFERE Kh= 1.0
(2)%EtFshERE Kv=Kh/2= 0.5
(3) AR FEHESR Fh=Kh-W-9.8= 1362.2 N
(4)RETHRERED Fv=Kv-W-9.8= 681.1 N
(5)7 v H—FL kDBl H Rb= Fh'Hg+(W'L9'Z:FV)'(L'Lg> = 7205 N
(6)7 > H—KIL b DEARA Q=Fh/N= 340.6 N
()7 h—FRIL MMETBENE
SS400DHE
OB RIS HE 0 =Rb/A= 9.2 MPa < Ft= 176 MPa
SS400DHE
@QEAMIEHE T =Q/A= 4.4 MPa < Fs= 101 MPa
QB TAKEZREEICZ T 256 fts'=1.4ft-1.6 7 = 239.4 MPa
@=L, fts'=sfto & & fts=fts' fts'>fto & Zfts=ftThH 2D T fts= 176.0 MPa
o= 9.2 MPa < fts= 176.0 MPa
(8)7 > Hh—HIL hDELE
@7 ¥ H—H k ORETE - BARLT » H— \
@avsu—toEs - 150 mm= 0.15 m
OFL k DIBAE & - 110 mm= 0.11 m
@HFEB|KME Ta= 5500 N> Rb=| 7205 |N
K EOBEREHELY, Trh—FRL I+ RBREEET 5,
KR b OHFBRIGHEL, [BRERGEMNEHG - BIEH2014FEm] 2L 5,
FEEFFBIET Y A—FHRIL MZOWTOBERFTETHY . EROMEBREZRILETL2HDOTIEHY £HA,
L 1340
Lg 603
H= 250 mm
& & yd & & & & & Hg: 270 mm
L= 950 mm
¥
- Lg= 460 |mm
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MEREEHEE (7 A—FRL b, RETAKFEEKh=2.0)

1. @iE= | sU— - LAty FRERNIZY b (@RAK/TIEBIAR)
2. a= ‘PLFY—P71 - 80CLMG9
3. HEEREETT
(LEFEE (EREE) w= 139 kg
(2)7vh—Fk
OfAE N= 4 ES
@Q% 4 X - ik =M 10 FiZ
@ 1A%7 Y OMITER (FEIC & 2 MEH) A= 78 mm’= 78 X10°  |m’
DEREEZERIHEDBIRY 22K A0 T > H—FRIL b OBRAK Nt= 2 ES
(EAELVBRELECOBE Hg= 270 mm= 0.27 m
(4)RET 2 HMEDSREFL 2 L= 950 mm= 0.95 m
(5)1&5Ts 3 AmA S RI-FIL Fhih SHEBRELE TOEE Lg= 460 mm(Lg=L/2)= 0.46 |m
4. REEE (BEOMEUT2HEZMEAA L TEH)
(1) EtRKFERE Kh= 2.0
(2)%EtFshERE Kv=Kh/2= 1.0
(3)FEHAKTEHES Fh=Kh-W-9.8= 2724.4 N
(4)RETHRERED Fv=Kv-W-9.8= 1362.2 N
(5)7 > H—H kDBl Rb= Fh'Hg+(W'L9'z:FV)'(L'Lg> - 1089.8 N
(68)7 v h—FIL kDO ABTH Q=Fh/N= 681.1 N
()7 h—FRIL MMETBENE
SS400DHE
OB RIS HE 0 =Rb/A= 14.0 MPa < Ft= 176 MPa
SS400DHE
@QEAMIEHE T =Q/A= 8.7 MPa < Fs= 101 MPa
@BIRE HAKEREICE 254 fts'=1.4ft-1.6 7 = 2325 MPa
@=L, fts'=sfto & & fts=fts' fts'>fto & Zfts=ftThH 2D T fts= 176.0 MPa
o= 14.0 |MPa < fts= 176.0 MPa
(8)7 > Hh—HIL hDELE
@7 ¥ H—H k ORETE - BARLET ¥ H— \
@avsu—toEs - 150 mm= 0.15 m
ORI+ DIBAR S - 110 mm= 0.11 m
@HFEB|KME Ta= 5500 N> Rb=| 1089.8 |N
K EOBEREHELY, Trh—FRL I+ RBREEET 5,
KR b OHFBRIGHEL, [BRERGEMNEHG - BIEH2014FEm] 2L 5,
FEEFFBIET Y A—FHRIL MZOWTOBERFTETHY . EROMEBREZRILETL2HDOTIEHY £HA,
L 1340
Lg 603
H= 250 mm
& & yd & & & & & Hg: 270 mm
L= 950 mm
¥
T Lg:ﬂ mm
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